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(b) The Fig. 12(b) sho
with generators

3.Line xmpedanoes are marked in p.uon a
100 MVA base.

ne the bus voltages at the end of second iteration

using Gauss — (16)
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Fig. 12(b) N
13. (a) For the radial network shown in Fig. IQKa) 3® fault occurs at point F.

Determine the fault current and the he voltage at 11.8 kV bus under -
fault condition. &
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Fig. 13(a)
Or

(B) A 3 phase, 5 MVA, 6.6 kV alternator with a reactance of 8% is connected
to a feeder series impedance (0.12 + j0.48) ohm/phase/km through a step
up transformer. The transformer is rated at 3 MVA, 6.6 kV/33 kV and
has a reactance of 5%. Determine the fault current supplied by the

generator operating under no load with a voltage of 6.9 kV, when a

3 phase symmetrical fault oceurs at a point 15 km along the feeder. (16)
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